


 

 

 

 

Mark should wear a hard hat. 

 

Mark should have worn a hard hat.  



 

 

 
 

 

     MODAL VERB   &    have + past participle 

 

 

 

 

 

Mark      should             have     worn  a hard hat. 

 

We     could         have   helped  you. 

 

You     would         have      made a great CEO. 



 

 

 
 

 

     MODAL VERB   &    have + past participle 

 

 

 

 

 

You      must          have     heard the news. 

 

 



 

 

 The engineers may develop  a prototype. 

 
 

 

 A prototype may be developed. 



should be worn. 

 

 

Workers should wear hard hats. 

 
 

 

 

Hard hats 



should have been worn. 

 

 

Workers should have worn  hard hats. 

 
 

 

 

Hard hats 



 

 

 
 

 

     MODAL VERB   &    have been + past participle 

 

 

 

 

 

Measures should       have been           taken. 

 

Workers   could     have been   warned. 

 

The CEO   must     have been           informed. 



 

Mark should have worn a hard hat. 

 

 You must have worn a hard hat. 

 

 

 

Hard hats should have been worn. 

 


